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QUESTION 1

Node 1 in a clustered pair detects that it has lost connectivity to one of its disk shelves. Node 1 is still up, but it cannot
see one of its disk shelves. However, the partner node, Node 2, can see all of the Node 1\\'s disk shelves. Which
feature will cause Node 2 to monitor this error condition for a period of three minutes by default, and then forcibly take
over Node 1 if the error condition persists?

A. Auto enable of giveback

B. Negotiated Fail Over

C. Takeover on panic

D. Cf.quickloop.enable

Correct Answer: B

QUESTION 2

For aggregates or traditional volume SyncMirror to work correctly, the configuration of each plex should be identical with
regard to

A. NVRAM

B. Mirrored Snapshot copies
C. RAID groups and disk sizes
D. NDMP and Snapshot copies

Correct Answer: C

QUESTION 3

In the cabinet diagram shown, what additional information should be included to make it more complete?
A. storage controller rack placement

B. storage port connectivity

C. switch connectivity

D. storage shelf connectivity

Correct Answer: D

QUESTION 4

Which two commands would help you troubleshoot a LUN that cannot be accessed by a host? (Choose two.)
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A. fcp show wwpn
B. fcp wwpn

C. igroup show

D. lun show -err
E. lun show -v

Correct Answer: CE

QUESTION 5

What security mechanism can an administrator use on an OSSV client to set permissions allowing backups to a
SnapVault secondary system?

A. Via /etc/hosts.equiv file

B. QSM access list modifiable via svconfigurator

C. Contents inside a file called access and located in OSSV /snapvault/etc

D. MD5 based authentication between SnapVault primary and secondary, with changeable password

Correct Answer: B
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